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SM: FMEX D
M J=MEEH
cel: Q23002 (2300125 3H) (et H)
_ — HdE T
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 BlusZ
O d2280ScA 2 25,968
= 20,774
Al 5,194
O A== 22/AF =AY 1,920
= 1,536
Al 384
201 EH2HH| 10,930 0 10,930
2 8,744
Al 2,186
01 AtR 22/t 10,930 0 10,930
O get=Ed| 10,930
—oZ2Z20AdEE EB2 ME S 10,930
= 8,744
Al 2,186
203 ¥ =&l 1,500 0 1,500
= 1,200
Al 300
03 AMH=XHRFAH| 1,500 0 1,500
O Hs&012 Atell2tel 2+Eal, 32z 233
] 1,500
= 1,200
Al 300
220 EXZAY 19,285 20,849 A 1,564
= 15,428
Al 3,857
101 el 24l 6,920 5,611 1,309
= 5,536
Al 1,384
04 JIZHNZE2XESE = 6,920 5,611 1,309
O 2dz2s80 g2 6,920
= 5,536
Al 1,384
201 et 4,430 10,255 N5,825
= 3,544
Al 886
01 AtR2teld] 4,430 10,255 N5,825
O 1. get=24| 4,010
— =8Hl =28 4,010
= 3,208
Al 802
O 3. 2g=¢ 420
— Y230 A5 A ¢ 420
= 336
Al 84
202 Oddl 3,335 3,183 152
= 2,668




SM: FMEX D
M J=MEEH
telr A2S0I2(A2=0IISSESAH) (el &
_ _ _ bolEl=
SA-EFH - SA(SAH) - MREAY - BES Off &F OH 'Oﬁ/'\jg'g BlusZ
Al 667
01 S WY 3,335 3,183 152
O B E X+ +=&IAEf &0l ot 606
= 485
Al 121
O Az20i2A2Q¥ WSl 2,729
= 2,183
Al 546
405 XtobE SHI 4,600 1,800 2,800
= 3,680
Al 920
01 NI ESF=H 4,600 1,800 2,800
O dz=0ig 88 dRHEH 7Y 1,600
= 1,280
Al 320
O 2==20s 82 ey 7 3,000
= 2,400
Al 600
olibigl(eI2301013) 12,000 12,000 0
801 0Oldlbl 7,000 7,000 0
01 obldl 7,000 7,000 0
O ollgldl 7,000
802 gret=JIEt 5,000 5,000 0
03 Hd=zS 5,000 5,000 0
O RH0IS3 gt 5,000




